7o EH 5

Prefill Valve

77 B % Y

Directional Control Valves

EEIL{EED 250kgf/cm?

BERRFRE S B N B o sl i AT HL k]

o AE
W B Z Rz
. ;F . Y W
M W A B Eﬁﬁ?@? HiE HUGR RIS F AR e
Vmin | keffom” | kg PF-80 MI16 x 555
3 | PF-80-3%-20 400 0.12 8 PF90 IS X 0o F
3172 | PF-90-3%-20 630 0.12 11.3 PE100 M20 X 05
4 | PF-100-3-20 1000 0.12 14.5 e M20 X 805 5
5 | PF-125-3%-20 1600 0.12 23 PE150 M20 X 5B 6
6 | PF-150-3%-20 2500 0.13 37 o) P R R B 1297 -
FE1 : PEAGIBHB RGBS L SE IR » 75 HI e BRI - RATHS P T L1950 A PRS-
e O CRMRUVER P ORI, 5fELLE)
OB Tk gk ¢ RMBATIIG o BT FRERI0.3kef/om? ©
3 ¢« SRR B AHERF(E 140kgf/emLUF © N =
FEa s 67 RSN BIER - o LuGhmsivorae e AR 2K
, LA TR - : :
l. HUGR F P | F TR
1
BEEEESE PF-80-FT-20 PF-80 6.6 2.2
L aakene PF-90 88 2.6
SR (L) VAR
I PE i 0+ T PF-100 14.2 26
FP : %P IIVLH PF-125 255 4
FT:8THERE (BiH)
LI Rk FW : 2P & T [ PE-150 28 8
PF--%-20
FYHE 6-M125:%20
N
P G
Q
s @/ﬁ\é ;
SOBETIIX PF-80,90,100 FHEI
/ 6-M125%20
oN1
oM
PCD H
QG
SHELR P
MM og ORK|A|[B|C|[D|E|F|G|H|I|J|K|L|M|N|NI|fOlQ |Q | S |U|V]| X
PE-80 3 [133] 94 |65 | 22 | 45 | 22 | 18014630 10 |142]120]902 [ 71 | 71 |43] G80 | G8O | 6-M12X40 | 18 | 26 | Re 1/4
PF-90 31/2[145] 119 | 72 [ 27 | 50 | 30 | 200|165 | 38| 13 |160]135]101.6| 88 | 88 | 50| G100| G100 | 6-M12X40 | 20 | 29 | Re 1/4
PF-100 4 |157|1325] 74 |31.5| 60 | 32 | 230 [191]40| 18 |170[ 148 [115.5] 106 | 106 | 56| G115| G115 | 6-M12X40 | 22 | 32 | Re 1/4
PE-125 5 |188]165 |85 | 43 | 80 | 50 [270]230]50(23.5[200] 175 [141.2[ 130 [ 130 [ 69 | G140| G140 | 6-M12X40 | 22 | - | Re 14
PF-150 6 |208]204 [105] 45 | 80 | 40 | 300|260 64| 25 [225]|200] 167 | 156 | 168 | 95| G170| G180 | 8-M12X40 | 22 | - | Rc38

105




